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a1 1| 25 ug 3 Mg
O 7 d3(246¥ 7NF)
(=k2 : mm)
7|2t 249 '24.5% 2469

A oA 2o |H[&E(%) Hd 2o H[E(%)| "4 2ol | H[E(%)
8 = 4437  469.7 1059 97.7 115.0 177 150.6 12338 82.2
=2 4166| 3994 95.9 100.6 119.2 1186 135.1 1226 90.8
otM M 398.9 437.3 109.6 932 108.4 116.4 131.6 129.9 98.7
=Ss 4452 4990 112.1 9.5 107.2 1134 1555 1219 784
o 446.9 394.3 88.2 90.9 54.8 60.3 148.0 83.8 56.6
Ej 5+2ZF 527.2 506.0 9.0 108.2 68.2 63.0 176.8 1196 67.6
= & 4523| 4684 103.6 R.5 117 120.8 160.2 1016 634
AmH 4170/ 5109 1225 95.9 143.1 149.1 138.4 116.0 83.8
Az 471.3 509.2 108.0 90.5 110.3 1219 166.0 98.6 59.4
RN A 472.3 483.6 102.4 92.4 90.5 97.9 156.7 81.6 52.1
Nz 540.0 703.1 130.2 106.6 147.3 138.2 191.2 186.9 97.8
o 521.2 582.1 117 98.6 110.9 112.4 182.4 147.4 80.8
Bz 606.7 827.2 136.3 1247 167.4 134.2 218.3 224.8 103.0

~ (BEXN) 7|48 6971 &z 7 c gy iy Z=u| 20| JHE HE2 A

A

’

o 71733 3/0Y A (24.79 ~2499)

28 yse y#7|2

24078 | BA(2459~3082mm) 2} H| =5 ALL BZ| HUH(240~252T) 2t HIRSHAL =3

24088 | H'A(225.3~346.7mm) 2t H| X5t ALE BE2| HH(246~256TC)ECt =5

24008 | EA(B4.2~202.3mm) 2} H|=SIALL BHS | HH(202~208T)2Ect HIRSHAL =3




X A al a3
g 2| M 8 X S=24H5
O A I (uedT 71F)
(EHel - 248m?)

T Che = HgSReds NI ST SAUSHTX|

o | HIZ o | HIE o | HIE o | HIE
—_r"|_-l o4 01[ L‘j %OH (o/c; O:” Lnj %OH (%) 01[ L‘j %OH (o/o) O:” Lnj %OH (%)

Al | 51652 6,181.0 119710152 9900 975 1864 2407 129.1 1,372.3 1,3833 1008
st2t | 2,3335 26160 1121 10120 9878 976 142 150 1056 2045 1998 977
cHEZH | 12346 1,631.0 1321 - - - 1592 2036 1279 3363 3175 944
22 | 10444 13230 1267 - - - - - - 2612 2583 989
Adabzk | 5527 6110 1105 32 22 688 130 221 1700 5703 607.7 1068

w [eH2]2 ohdA, [HEze dilzbelsiz (3218 MU, [F2 i, SN, drig 9 BRI A Alde 23

- thE A

g g EIE
FA | oA (84 Bbm) (%) << (/%)
7o o | &R | $9 - - zezy
(o) | ELM) | ELmM) | & A | o | (m) | wm | as
Mg | e
B 12923 6180 48] 38| 399

o | =gz | 2703 198| 1757| 2900 1515] 52| 41| 655 0 0
o LB = | 6648 145 124 2750 | 1060| 39| 34| 316 0 0
- 209 180 | 1705 87 41 471 37| 315 1 0

ob = | 1584| 161.7] 1491 | 1,248 702| 56| 38| 527 63 0
el S| 1,361| 1647| 1532 595 340| 57| 33| 280 0 0
N o 413| 3649| 3538 28 15| 53| 46| 464 0 0

LoLg 3 500 164 | 147.9 181 61 33 37| 32 17 0
o |2 ¢ 87.5| 2051 | 1919 49 21 43| 35| 472 1 0
o | st 82| 1986 |  189.1 54 34| 62| 38| 366 2 0
S | B2 326 | 2385| 2276 22 11 49| 29| 566 0 0

g A 925 179 155 790 32| 41 3| 729 0 0
ez 2285 46 36.8 309 80| 26| 29| 163 0 0
oo 9%5.4| 2102| 1938 74 45| 61 52| 455 0 0

E R 930 | 2655 | 2519 815 430 | 53| 41| 624 27 0
Z o H | 3204 80 702 | 1,490 824 | 55| 44| 274 0 0
A MY 763 | 1977|1819 466 167| 36| 28| 570 1 0
| F | 1145] 1105 99.3 707 32| 47| 40| 469 14 0
o Tt 59 |...438 36.6 50 30| 59| 55| 550 0 0
e 2B 1636] 755 70.2 117 69| 59| 33| 244 1 0

& s 193] 828 69.8 191 82| 43| 43| 808 1 0
T 1) HELERY A FRoM A EFANX MeS2ol s Ests dTHFEE 50%)
2) FH2 T3 1A Moz AMEHS 3
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- &4
Mgk Mg e
7o AbA S (84 Okm) (%) Abg (m/%)
T+ & oy | Bk | =9 e
(km) | (ELm) | (EL.m) 5 A | o | (M) | e | A
Mg | Mee | T - T | g%
z A 4449 | 2406 54 41 512
ot = 125 672 | 6712 13.1 8.3 63 55 126 0 0
z EEY 29.4 112 110.5 8.7 6.7 76 56 | 484 0 0
Sk 235 | 1568 151.1 103.2 58.5 57 35| 43 0 0
oHA| 6.7 439 37.3 185 9.4 51 58 | 2,060 - 0
FAE 3.7 40 39.2 26 2 75 53| 500 - 0
" 22 301.3 145 143 | 1603 92.4 58 421 520 0 0
= | o= 57.5 120 111 362 134 | 37 18| 580 0 0
> Abed 67 60 489 30.3 8 26 31 781 - 0
< cH ef 77 485 47 13.1 5 38 36 651 - 0
Met 12 30 276 2 17 84 79| 806 - 0
S 11.7 48 476 5.2 4.2 81 55| 645 - 0
+H 12.7 93 9.2 10 9 0 75| 613 0
£ = 49 64 529 31.3 14.4 46 54| 940 0
A =k 199 | 1097 108.8 10.3 7.7 75 47 1 429 0
ML MM A ESTRANK MeSto it ZTTHFEE 50%)
R
SR Mg Abgt arR e
47 | A (e 2km) (%) zee (/%)
T+ & Mgk =2 mm
(EL.m) (EL.m) = R - REE E R
PN of A T2
ez | mez | OIS e | o | T
= A 1,550 990.1| 639| 597 | 9686 - -
s A 175 164 917.1 4687 | 51.1| 436 433 | 742| -
= A 102 101.1 139.3 114 819| 829 999 | 1287 -
oy | o 70.5 69.8 85.7 616 | 719| 757| 2825| 2159| -
3 g 50 49.4 162.7 131.1| 806| 815 334 | 4151 | -
1 A 134 129.3 115 32| 279| 262 29| - 24
=z o - 24.9 230 209.2 91 %0 537 | 7735| 1505
MRzt | 2N 126.9 1252 5.6 22| 396 449 434 - 137.4




o AF FFA L (2478 ~2499)

(ck2 : m¥/s)
oo Al 0474 '24.8% '24.9%
ofd | 28 |[bvl8 | od | 23 |68 | od | 28 | HE(%
2| (e gk m) 10,032| 9,347 932| 10626| 9,146 86.1| 6012] 5018 83.5
CHE™CH | 4530 1429 315 4915 2639 537| 3559| 2556 718
oy | EFE 34 07 20.9 19 76| 396 25 63| 2536
- stMed | 27187| 1,907.0 70.1| 27747| 15587 562| 1,3999| 7816 55.8
X £ X| 35 - - 38| - - 32| -
CHE™c | 2061 1087 367 3207| 256.3 799 2413 1554 64.4
ey | BT 20.5 18.1 88.2 20.9 244 1166 18.9 246| 130.0
ST g cH - - - - - - - -
SRS 13| - - 12| - = 12| -
CHExc | 2459 66.3 269 2092 1964 939| 1832 1072 58.5
22 | B87H - - - - - - - -
2 - - - - - - - -
X 5= K| 4680 - - 5828| - - 3206/ -
cC2xe | 1006 53.1 528 1184 514| 434 %6 498 516
oiatzt | STH 5.8 4.4 75.5 55 55 99.9 5.0 52|  104.4
b2 i 26.3 20.5 77.9 248 20.7 83,5 16.2 10.6 65.4
X 5= X| 695.3] - - M1 - - 205.8 -
« (B2 oMH [HEZie EAZMEls (2212 AnH, [PAZIe oiEZ SR MAIZ 2 ERRIZE 2 AlMe 23
- =AY
(ck2l : m¥/s)
2 0474 0489 '24.9%
=7 ofd | A= |v2@%)| od | A= vg@)| od | A= | 2%
A (8 gkm) 29345 993.39 34| 3,052.5 2,057.01 67| 2,273.2|1,472.26 65
Aokt 80.05 30 371 107.41] 335 31 907 743 82
sz £ = | 35499 11035 31| 37347 2187 50| 259.1] 1767 68
3 A 18] 254 14l 106|117 110  6.13 46 75
oF = 4118 3766 91| 4671] 489 105] 39.66| 351 89
of 3} 36.81 17.1 46| 3853 173 45| 372 167 48
M oo 1.16] 067 58|  1.01 06 60| 1.12 0.5 45
2 9 138 088 64| 172 0.9 52 154 0.9 58
=z | ZEss 228 2 88| 362 0.9 25| 208 0.8 38
5 A 037, 047 126] 037 05 134 054 05 93
3 A 2274 17.99 79| 31.44| 195 62| 2712 181 67
Loz 184.4)  29.19 16| 19161 164.9 86| 130.02] 804 62
ol of 579 271 471 564 28 50 448 24 54
- o 2 o 3984, 1673 42| 3965 262 66| 3275 23 70
- c of = 197.21|  46.15 23| 160.92| 166.6 104] 1451 80.9 56
P F oo 5884, 1656 28| 67.88) 158 23| 5779 229 40
see M F 2916/ 3148 108] 4047| 293 72| 2971 222 75
B oo} 3.14 1.1 35| 287 p) 70 255 14 55
7| oy 881 337 38| 862 36 @ 536 33 62
2 B 948 394 2| 713 43 60| 652 33 51




- g
(ck2 : m¥/s)
2 24.7¢ 248 24.9¢
T ofd | A= | we | od | A= | ve | od | A" | e
Hl (4 Tkme) 79.636| 62.061 78] 75.773| 100.199 132|] 68.335| 93.493 137
I 2 = 2.624 0.439 17 14 5.92 423 1.883 462 245
== 0.805 0.277 34 0.506 1.64 324 0.605 1.69 279
q A 7.308 8.102 111 7.453 9.15 123 6.907 8.26 120
4 = 0.075 0.021 28 0.082 0.03 37 0.068 0.13 190
T = 6.31 442 70 6.9 9.3 135 5.595 9.76 174
Al CH = AFd 2.248 1.855 83 2.524 1.85 73 2.853 1.85 65
oy et 3.797 3.244 85 3.176 3.07 97 2.77 34 123
o4 = 0.367 0.162 44 0.381 0.49 129 0.343 0.47 137
= A 0.371 0.248 67 0.402 05 124 0.366 0.7 191
MRZL = 0 5277 3.959 75 4.962 461 93 4.496 46 102
o M2 4 0.551 0.444 81 0.506 0.85 168 0.477 0.59 124
sk
(ck2 : m¥/s)
2 2478 2488 2499
T ofd” | A& |HlE@ | od | AHE  HE% | od | HE | HE%)
A 73522 5,162.6 702 74982 4,230.3 56.4| 3,670.5] 2,053.4 55.9
=S| 112.3 70.6 62.9 176 542 30.8 77 22.8 29.6
= 200.2 140.4 70.1 256.1 119.7 46.7 104.5 49.8 477
st2t o| ot 3172 194.8 61.4 411.6 170.7 415 183.2 83.9 458
Hg 537.2 410.7 76.5 548.9 335.6 61.1 256.5 161.6 63
| A 516 431 83.5 38.2 34.5 90.3 25.1 16.7 66.5
et 1,500.2| 1,047.4 69.8| 1,343.9 844 62.8 753.6 446.8 59.3
MRAZY | BEMNY 26.3 20.5 78 24.8 20.7 83.5 16.2 10.6 65.4
ol AE 01~23d UM & URTHLMLURTTEURY) HHXR
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2 4.7 '248% '24.9¢
= ofd | AE || od | AHAZ |H2%)| o | A |6 (%)
PEES -1 0075 - -1 o008 - —-1 0048 -
7t -1 0.000 - -1 0000 - -1 0.000 -
ot - 0,000 - - 0000 - -1 0000 -
bt He —-1  0.000 - —T 0000 - —1 0.000 -
SEe X -1 0000 - - 0000 - -1 0000 -
HA 0.375 0.265 0.252
o= -1 0872 - -1 0525 - -1 0483 -
x| A (Qkot) -1 0505 - -1 0320 - -1 0298 -
=5 -1 0500 - -1 029 - -1 0268 -
Altibgd -1 0.188 - -1 0156 - -1 0152 -
g2 -1 0106 - - 0.6 - -1 0056 -
= -1 0.001 - -1 0063 - -1 0059 -
= -1 0320 - -1 0360 - -1 0171 -
ES Y -1 0468 - -1 0400 - -1 0357 -
Az - 1.351 - - 1208 - -1 0670 -
xHzH -1 0383 - -1 0160 - -1 0123 -
= -1 0659 - -1 0565 - -1 0618 -
B -1 1508 - - 1247 - -1 0682 -
HIE -1 1532 - -1 2010 - -1 1602 -
gtE - 0.741 - - 0.764 - - 0.443 -
245 -1 0877 - - 0591 - -1 0265 -
Y = - 5.406 - - 5.247 - - 1.924 -
o ol et - 2061 - - 159 - -1 0833 -
== W= -1 0172 - - 0.001 - -1 0019 -
0% - | 6.440 - -1 697 - - 3742 -
27| - 0.310 - - 0.515 - - 0.255 -
3| - 0291 - -1 o282 - -1 0184 -
201 -1 1037 - -1 1.008 - -1 0611 -
[=$ -1 1216 - -1 153 - -1 093 -
gat - 0.792 - - 0.713 - - 0.478 -
== - 0475 - -1 0419 - -1 0290 -
X ot -1 0375 - -1 0375 - -1 0215 -
3HH -1 03% - - 0402 - -1 0207 -
HEA} -1 0960 - - 0531 - -1 0621 -
= -1 0335 - -1 0340 - -1 0.111 -
Bt - 10.654 - - 10.907 - - 6.567 -
A= -1 0779 - -1 078 - -1 049 -
= A -1 0880 - -1 0924 - -1 0513 -
HE - 0.702 - - 0.759 - - 0.525 -
) -| 1087 - -1 0973 - -1 103 -
2252 E — | 299.700 - - | 410300 - - | 228.000 -
=2 -1 039 - -1 0439 — -1 0253 -
Alch - 0481 - -1 053 - - 0284 -
MmH | oSO =) - | 18814 - -1 20686 - - 11.408 -
=4 - 2117 - - 2.412 - - 1.305 -
Mms - | 79.873 - - | 86.449 - -| 48975 -
o= -1 1463 - -1 089 - - 0803 -
HH - 3439 - - 183 - -1 1907 -
ERIVE =3 -1 0577 - -1 0267 - -1 033 -
ME - 1.748 - - 1.130 - - 1.009 -
o 5 x| - | 14.39 - - | 14486 - -| 923 -
FTES -1 096 - -1 o250 - -1 1636 -
oA MY =M - 1.412 - - 2.097 - - 1.246 -
NES —| 2504 - -| 4229 - - 2963 -




2 2474 2483 2494
of A A & o A =l of A A &
Ehof -1 1234 -1 2093 -1 1463
= -1 2369 - 3217 - 1.948
ohz - 0641 - 0744 - 0442
e - 0692 -1 1.033 -1 0614
°s - 0164 - 0278 -1 0.165
set -1 0522 - 0605 - 0360
25| - 0347 - 0508 - 0409
2l 4] - 0208 -1 033 - 019
A -| 2935 - 4967 - 3743
| -1 1019 -1 1114 -1 0644
e of - 069 SIRAY - 082
PN - | 479.000 - | 356.300 - 132750
Aets - | 138.800 - 25100 - 33580
2535 - 29700 -1 8700 - 2740
74 - 0440 - 0946 -1 0577
2= - 0508 - 0274 -1 0246
wE - 0.860 -1 0760 - 0370
24 - 1714 - 1786 - 1110
s - 0144 - 042 - 0250
os - 0465 -1 053 - 030
2 -1 0930 - 1240 - 0746
et -1 0923 - 1860 - 1119
&2 - 0574 - 0824 -1 0512
= - 3602 -1 2105 -1 1904
S -1 629 -1 633 - 3560
o -1 333 -1 195 - 1755
27 -1 0100 -1 0050 - 0000
2 - 0063 -1 0056 - 00e8
ch of - 7953 -| 53 -1 4846
3 - 0594 -1 0320 - 0579
24 - 1101 - 05% - 053
sg - 2495 - 1825 -] 1640
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na
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A1 3| e o

O % A (24698 F)

. 7|2t 2414 = 244 2454

c£|1
240 & K| & ofd | 28 (H[2%)| old | 25 %] ofd | 23 | HS(%
AF (25, derzytn) 1352| 1921| 1421 1711 1291 754 167| 2798| 1675

BT (2R, Yim) | 2494 4528| 1815 3329 5699| 171.1] 3642 561.9| 1542

(M, XU @) 117 14| 1195 136/ 177| 130| 155 107| 688

5

| F@oin, asm) 45 5/ 1095/ 55 51| 941 63| 52 838
Mgy, 22 73 9 123| 108 118/ 109 99| 61 624
o (A, bl 20 @) 62 53| 854| 1016 911 896| 1154 365 316
HEl (oM H, 22M) 45/ 107| 2378| 57, 57| 999 6/ 63 1053
of H(=x, a4zm) 959 721| 752 1331| 881 662 1592 1006| 632
Toles, wsm) 845 984 1165 1026 1292 1259 1338 1253 936
AT =s s2elcta)) 97.3| 1222 1256| 1272| 1441 1133| 1527 1522| 997

L}

= |nY(ER 1w 1299| 1874 1442| 1764 2155 1222| 2084 217.80| 1045

N

HHER Mz 142 2422 1705 1885 290.1| 1539| 236.8| 276.60| 116.8
gekEg, Azl 207.7| 3359| 161.7| 291.8| 4525| 1551 334.1| 3195 95.6
LT, attxim) 2442 3741 1532 3068, 509.7| 166.1| 395.7| 3462 87
SHESF, olgdm 26.6 462 1733 28.4 64.4 227 27.5 24.8 90.2
ST (R, 32D 679 1163 1712 83.8| 1055 1258 986 159.5| 1617
a | FoEs 4MD) 82.3| 1404, 170.7| 101.6| 1405 1382 107.7| 1741| 1616
z O & (A, A7) 124 155 1253 13.8 163 1177 143 1.3 79.3
MEAl(alzH, gatm) 21.7 353 162.8 254 412) 161.8 31.2 346 1108
ORMAl(Z A, Bhfictal) 43 6.1] 1421 3.9 6.3 160.8 53 58| 1077
/Oc\i TR I 141 17.1] 1209 15.7 21 1339 2 20.3 924
I7;t L (25, U3Edim) 32.8 46 140 36.1 51.7] 1431 52.1 48.5 93
" SdER 33D 12.5 26.6 212 12.9 262 202.3 18.7 209| 1118
g S (=R, oam) 20.3 457 2249 24.5 82.8| 336.9 277 292 1055
< TeH(2R, sy 32.7 63.2| 193.1 384 1158 3011 416 41 98
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O ZgoH X
Z50E JE 229
ey Fo A7
TS B E e BN Ed
AT ey dstzgm) 49.3 43.0 394 34.4 24.6 215 14.8 12.9
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